Critical Values for the Runs Test
Taken from Zar, 1981 Table B.28

a(2): 050 020 0.10 0.05 0.01 0.005 0.002 0.001 a(2): 0.50 0.20 0.10 0.05 0.02 0.01 0.005 0.002 0.001
ng nz a(1): 025 0.10 005  0.025 0.005  0.0025 0.001 0.0005 ng nz a(l): 025 010 005 0025 001 0.005  0.0025 0.001  0.0005
2 3 2, 4 ®, B T, o o = Sy S By 8 ey = ~E * ] | )

U 2,5 - == o= R e e T 1 5,8 b= w, - 3,- 3, - 2,- 2, - 2, - -, -
5 2, = 2, - -, - -, - iy B T B B 15 | 6, = 4, - W, - 3, - 3 - 3 - 2, 2 = =-
6 2, - 2, - - -, - L e 16 | 6 - 5, - b= k- 3= 3 - 2,- 2,- 2 -
7 A e I A 17 6, - 5, b, b= 3, - 3, -2, - 2, - 2, -
18 6, - 5, - 4, - b, - 3,- 3,- 2,- 2,- 2 -
8 5,0 2, - 2, - - - A e e
9 - 2,- 2,- - - i L 19 6, - 5, - 4, - b= 3, - 3, - 2,- 2,- 2 -
10 3, - 2,- 2,- - - R e e 20 6, - 5, - W= W= 3 - 3 - 3 - 2, - 2, -
11 3, - 2, - 2, - -, - L T N 21 6, - 5, - b, - 4, - 3, - 3, - 3, - 2, = 2, -
12 - 4. - 2 - = s R ege mg- 22 S M M M M M R
23 6, - 5, - b, - b, - b, - 3, - 3 - 2, - 2, -
13 5,0 2, 2, - 2, - R
14 5,- 2, - 2, - 2, - s e 2 6, - 5, - 5,- k- b - 3= 3~ 2,- 2 -
1s E I I VR s L L ks 25 | 6 - 5, - 5, - b= b= 3, - 3= 2, - 2 -
16 e 2= 2, 7, - e R e s e 26 | 6, - 5, - 5, - b, - b, - 3 - 3 - 2, - 2, -
17 e n- 2, - 2, - ~ S R w A N A A R R A
28 6, - 6, - 5, - 4, - 4, = 3, = - - -
18 I I P P T ’ ’ ’ ’ ’ ’ ’ ’ ’
19 5,5 3. 2,- 2,- 2,- .- == .- o -
20 3, - 3, - 2, 2,- 2. - o= - - -
21 R L R VR M
A -
23 | b, 3, - 2, - 2, = 2, = == == e = -, - -
R I R 2
25 b,- 3, - 2,5 2,5 2,5 5 - 5= o= - - 2
2 R A A M - T
27 W, - 3, - 2, - 2, - 2, - 2, - = - - - - - 10 6,10 5,11 4,11 3, - 3, - 3, - 2, - 2, - = -
11 6,10 5,11 4, - 4, - 3, - 3, - 2, - 2, - 2, -
28 b, 3, 2, - 2, - 2, - 2, - 2 - = = 12 6,10 5,11 4, - b, - 3, - 3, - 2, = 2, - 2, -
29 b, - 3, - 2, - 2, 2, 2, - " - .- . 13| 6,10 5,11 4, - 4, - 3, - 3, - 3, - 2, - 2, -
2 30 u, - 3, - 2, 2, - 2, - P - -, - | 6,10 5, - L= b, - 3, - 3, - 3, - 2, - Ty =
B - |
303 2, 6 2, 6 PR Y- -, - 15 | 6,11. 5, - 5, - 4, - 4, - 3, - 3, - 2,- 2, -
b 3,6 2,7 -, 7 S T T 16 | 7,11 6, - 5 - 4, - 4, - 3, - 3, - 2, - 2, -
5 | 3,7 2T 2, - T S 17| 7,11 6, - 5, - b, - 4, - 3, - 3, - 3, - 2, -
6 1 3,7 2,- 2,- 2,- -, - == .- .- - 18 | 7,11 6 - 5 - 5 - 4 - k- 3, - 3, - 2 -
7 3,1 3~ 2, = 2, = e, e, = e, e - - - - 19 | 7,11 6, - 5, - 5, - 4, - 4, - 3, - 3, - 2, -
|
8 A T T T R T 20 1 7,11 6 - 5 - 5 - k- b 5, -3, 3, -
9 4, - 3, - 2, - 2, - 2, - =0 =y = = 'S = = 21 | 7,11 6, - 5, = 5, - b, - b, - , - 3, - 3, -
10 b, =3, - 3, - 2, - 2, - -, - - - - o - s 22 | 7, - 6, - 6, - 5 - b,- b, - b - 3- 3 -
1 PO I A A A S S A s 23 T, - 6 - 6 - 5, 4= & - k- 5 - 3 -
. ’ ’ .- 2, - 2, - = = S = <. - 24 7, - 6, - 6, = s, - b, - 4, - 4, - 3, - 3, -
25 8, - 6,- 6,- 5, - b, - b, - b, - 3, - 3, -
13 b, = 3, - 3, - 2, - 2, - 2, - - - - - - - 26 8, - 6, - .- H A O T
1% b - e S 27 8, - 6, - 6,- 5, - 5 - 4, - 4 - 3. 3 -
ig bp = b= 3. 3 - 2, = 2, - 2, -, - 5, -
bo = b, -3, - 3, -2, - 2, - 2,5 - 5, - 28 8, - 6, - 6,- 5 - 5 - 4, - & - 3, = 3 =
17 bes s 3, 3,5 2,5 2,5 2,8 s s, 29 8, - 1, - 6, - 6y~ 5 - bho- by~ by~ 3
18 by b,s 3. 3,- 2= 2, - 2, - 5, - -, - LI SR B LR 2 b . Y. nC .
%3 . :' - g' - ;' - ;' - g' - %' - % * =, = 6 6 | 5,9 4,10 3,11 3,11 2,12 2,12 2,12 - - - -
o S el 30° 2 3 - I P T 7 5,8 4,11 b,11 3,12 3,12 2,13 2,13 -,13 - -
55 d e i ¥ s s . . K 8 | 6,10 5,11 4,12 3,12 3,13 3,13 2,13 2, = -, -
i . . .- . . . 2, 2, - - 9 6,10 5,11 4,12 4,13 3,13 3, - 2, - 2, - 2, -
3 | S, - - b, - 3, - 3, - 2, 2, - 2, - - - 10 6,11 5,12 5,12 4,13 5, - 3, - 3, - 2,- 2, -
30281 5, - b, - b, - 3, - 3, -2, -2, =2, - -, - 11 7,11 5,12 5,13 4,13 4, - 3, - 3, - 2, - 2, -
3025 1 5, - b, - W, - 3, - 3, - 2, - 2,- 2,- - - 12 711 6,12 5,13 4l13 4 - 30 - 3,- 3 gl
26 | 5, - 4, - 4, - 3, - 3, - 2, - 2, - 2, - 2, = 13 7,12 6,12 5,13 o . - 3, - 3, - 3, - 2, -
g; : 2, - :. = :, & g. £ §, = g, - %. # g, & g, = 14 7,12 6,13 5,13 5, - , - 4, - 3, - 3, - 2, -
= # # - - - - - - 6,13 6, - - - - - - -
29 | 5: - ,‘: N u: N 3: - }: N 2: - 2: - 2: - Z: N 15 7,12 ’ . 5, 4, 4, 3, 3, 3,
3 30 ) 5, - 4, - 4 = 3, = 3, = 2, - 2 = 2, - 2, - 16 8,12 6,13 6, - 5, - b, - b, - 4, - 3, - 3, -
% & "*"'""; """""""""""""""""""""""""""""""""""""" 17 | 8,12 6,13 6, - 5, - 5, - b, - 4, - 3, - 3, -
| 3, 2, 8 2, 8 S E By ¥ %y By W # B ® 18 8,12 7,13 6, - 5, - 5, - 4, - b, - 3, - 3, -
2 II ,f, g ;, g ;0 g g, g 2 8 s e s = - - - 19 8,12 77 6, - 6, - 5, - b, - b, - 3, - 3, -
¥ PO T A T AR T VA O e 2 : SF 20 8,12 7, - 6, - 6, - 5, - b, = b, - 4, - 3, =
8 I b, 8 3,9 3, - 3, - 2, - 2, - "B - - - 21 | 8,12 7, - 6, - 6, - 5, - 5, - b, - W, = 3, -
22 | 8,13 7, - 6, - 6,- 5 = 5 = b, ~ b, - 3, =
w ] 8 B BT B LS L oS- s s 23 813 7,- 6, - 6o+ S5 = S- k- 4= 3.
ol ¥s ows ¥z Lo 2z Lo oz - 24 8,13 7, - 1,- 6, - 5,- 5 - b, - b - b =
2 | S S A e A e 25 8,13 b= T, - 6, - 5, = 5 - 4, - 4, = b, -
Bobs 9 ks ks 3,5 3, 2,5 2,5 2,5 5, 26 9,13 8, - 1, - 8, 6, - 5, 5, - & - b4 -
27 9,13 8, - 7,- 6, - 6, - S, - 5 = b = 4 -




Critical Values for the Runs Test (cont.)
Taken from Zar, 1981 Table B.28

«(2): 050 020 010 005 0.02 0.01 0.005  0.002 0.001 a(2): 050 020 0.10 0-03 0~°12 g-g&s g-gggs 8-8812 g~gg(1)5
n nz a(l): 025 010 005 0025 001 0005 00025 0001 00005 Nz a(l): 025 010 005 0025 00 - - - -
- 24 12,17 10,18 9,18 9,19 8, - 7, - 7, - 6, - 6 -
28 9,13 = b, = B, = 5, - 5, - 4 - u - 25 12,17 10,18 -10,019 9,19 8, - 7, - 1. - 6y - 64 -
9,13 7, - 6, - 6, - 5y & 5, - 4, - 4, - 26 12,17 10,18 10,19 9, - 8, - 7, - 7, - 6, - 6, -
9,13 7, - 6, - 6, - 5, - 5, - b, - 4, - 27 12,17 11,18 10,19 9, - 8, - 8, - 7, - 6, - 6, -
- 28 | 12,17 11,18 10,19 9, - 8, - 8, - 7, - 6,- 6, -
|
29 | 12,17 11,18 10,19 9, - 8, - 8, - 7, - 7, - 6, -
9 30 | 12,18 11,18 10,19 9, - 8, - 8, - 1.~ 7. - 6, -
10 10 9,13 7,15 6,16 6,16 5,17 5,17 4,18 4,18 3,19
1 9,%3 8,15 ;,ig 6,17 5,18 s,ia 4,19 :,%3 z,gg
12 9
12 312 G165, 15 b, - b = oL 13 10,15 8,16 8,17 7,18 6,19 5,19 5,20 4,20 4,20
- - = = & 5,20 4
13 415 oo 2t 2 b i 3z 302 14 10,15 9,17 8,17 7,18 6,19 6,19 ) 5,20 ,21
15 8,13 6,15 6,15 5, - 4, - b, - 3, - 3, - 15 10,16 9,17 8,18 7,18 7,19 6,20 6,20 5,21 5,21
16 8,13 6,15 5, = 5, - 5, - b, - b - 3, - 16 11,16 9,17 8,18 8,19 7,20 6,20 6,20 5,21 , -
17 11,16 10,18 9,18 8,19 7,20 6,20 6,20 5,21 5
1 313 T B Gy B &= ke 3 18 11,16 10,18 9,19 8,19 7,20 7,21 6,21 6, - 5, -
19 9:1“ 7:15 5: - 6: - 5: - 5: - b: - ": - 19 12,17 10,18 9,19 8,20 8,20 7,21 6,21 6, - 5, -
20 9,14 7, - 6, - 6, - 5, - 5, - &, - b, - 20 12,17 10,18 9,19 9,20 8,20 7,21 7, - 6, - 6, -
21 : 9,14 7, - 7, - 6, - 5, - 5, - b, - &, = 21 12,17 10,18 10,19 9,20 8,21 7,21 7, - 6, - 6, -
22 12,17 11,19 10,20 9,20 8,21 - 7, - 6,- 6, -
22 | 9,14 7, 7, - 6 - 5 - 5 b, -, 23 12,18 11,19 10,20 9,20  s.21 - - S el -
723 | 10,1 . - 6 - 6 - 5 5, = b 24 12,18 11,19 10,20 9,20 8,21 8, - , - 7, - 6, -
7 24 | 10,14 8, - 7, - 6, - 6 - 5, - 5, - 4, -
25 10,14 , - 8, - 7, - 6 - 6, - Sy = 5, - &, - 25 13,18 11,19 10,20 10,20 9, - 8, - 7, - 7, - 6, -
26 10,14 » = 8, - To = 6, - 6, - 5, = Sy = 4, - 26 13,18 11,20 10,20 10,21 9, - 8, - 8, - 7, - 6, -
27 10,14 p - 8, - 7%- 6- 6 - 6- 5 - 5 - 27 13,18 12,20 11,20 10,21 9, - 8, - 8, - 7, - 7, -
28 10,14 9, - 8, - Ty = Te = 6, - 6, - 5, - 5, - 28 13,18 12,20 11,20 10,21 9, - 8, - 8, - 7, - 7, -
29 13,18 12,20 11,20 10,21 9, - 9, - 8, - 7, - 7, -
29 10,14 9, 8, - 8, - 7, - 6 - 6 - 5, - 5, -
7 30 10,18 9, - 8, - 8, - 7, - 6 - 6 = 5, - 5, - 10 30 14,18 12,20 11,20 10,21 9, - 9, - 8, - 8, - 17, -
8 8 7,11 5,13 5,13 4,14 4,14 3,15 3,15 2,16 2,16 1 11 9,15 8,16 7,17 7,17 6,18 5,19 5,19 4,20 4,20
9 7,10 6,13 5,14 5,14 4,15 3,15 3,16 3,16 2,17 12 10,15 9,16 8,17 7,18 6,19 6,19 5,20 5,20 4,21
10 7,12 6,13 6,14 5,15 4,15 u,16 3,16 3,11 3,17 13 | 10,16 9,17 8,18 7,19 6,19 6,20 5,20 5,21 4,21
11 8,13 7,14 6,15 5,15 5,16 4,16 8,17 3,17 i - w | 11,16 9,17 ,18 8,19 7,20 6,20 6,21 5,21 5,22
12 8,13 7,14 6,15 6,16 5,16 4,17 4,17 3, - 3, - 15 | 11,16 10,18 9,19 8,19 7,20 7,21 6,21 5,22 5,22
13 8,13 7,15 6,15 6,16 5,17 5,17 b,17 4, -3, - 16 11,17 10,18 9,19 8,20 7,21 7,21 6,22 6,22 5,23
14 9,14 7,15 7,16 6,16 5,17 5,17 4, - .- 3, = 17 12,17 10,1 9,19 9,20 8,21 7,22 7,22 6,22 5,23
15 9,14 8,15 7,16 6,16 5,17 5y = 5, b, - &, - 18 12,17 10,19 10,20 9,20 8,21 7,22 7,22 6,23 6,23
16 9,14 8,15 7,16 6,17 6,17 5, = Sy = 4, - &, = 19 12,18 11,19 10,20 9,21 8,22 8,22 7,22 6,23 6, -
17 9,14 8,16 7,16 7,17 5, - 5, - 5, - b, - b, - 20 12,18 11,19 10,20 9,21 8,22 8,22 7,23 7,23 6, -
18 10,14 8,16 8,16 7,11 6, - 6, - 5, - 4, - 4, - 21 13,18 11,20 10,20 10,21 9,22 8,22 7,23 7, - 6, -
20 10,15 9,16 8,17 7,17 6, - 6, - 5, - 5, - 4, - 22 13,18 11,20 10,21 10,22 9,22 8,23 8,23 7, - 6, -
21 10,15 9,16 8,17 7, = Ty = 6, - 6, - 55 % 5, - 23 13,19 12,20 11,21 10,22 9,22 8,23 8,23 7, - 7, -
22 10,15 9,16 8,17 8, - 24 = 6, - 6, - 5, - 5, - 24 13,19 12,20 11,21 10,22 9,22 9,23 8, - 7, - 7, -
23 10,15 9,16 8,17 8, - T, = 6, - 6, - 5, - 5, - 25 | 14,19 12,20 11,21 10,22 9,23 9,23 8, - 7, - 7, -
|
24 11,16 9,16 8,17 6, - 6, - 5, - 5, - 26 | 1s,19 12,21 11,22 10,22 10,23 9, - 8, - 8, - 7, -
25 11,16 9,17 9, - 1 = 6o~ Sp~ By 27 | 14,19 12,21 11,22 11,22 10,23 9, - 8, - 8, - 7, -
26 11,16 10,17 9, - 7, - 6, - 6, - 5, = 28 14,20 13,21 12,22 11,22 10,23 9, - 9, - 8, - 7, -
27 11,16 10,17 9, = 7, - 6, - 6, = 5, - 29 14,20 13,21 12,22 11,22 10,23 9, - 9, - 8, - 8, -
28 11,16 10,17 9, - 7, - 6, - 6, - 5, - 11 30 14,20 13,21 12,22 11,22 10, - 10, - 9, - 8, - 8, -
29 1,16 10,17 9, - 7, - 6 - & - 5 - 12 12 | 10,16 9,17 8,18 7,18 1,19 6,20 5,21 5,21 422
8 30 1,16 10,17 9, - 7, - 1,- 6, - 6 - 13| 1,1 918 9,18 8,18 7,20 6,21  6.21 5,22 5,22
14 11,17 10,18 9,19 8,20 7,21 7,21 6,22 5,22 5,23
9 9 8,12 6,14 6,14 4,16 3,17 3,17 3,17 15 12,17 10,19 9,19 8,20 8,21 7,22 6,22 6,25 5,23
10 8,13 7,14 6,15 4,17 4,17 3,18 3,18 16 12,17 10,19 10,20 9,21 8,22 7,22 7,23 6,23 6,24
11 g,is 7,15 6,15 5,17 4,18 3,18 3,19
12 o, 14 7,15 7,16 6,16 5,17 5,18 4,18 4,19 3,19 17 12,18 11,19 10,20 9,21 8,22 8,22 7,23 6,24 6,24
13 9,1s 8,15 7,16 6,17 6,18 5,18 5,18 4,19 .19 18 13,18 11,20 10,21 9,21 8,22 8,25 7,23 7,24 6,24
19 13,18 11,20 10,21 10,22 9,23 8,23 7,24 7,24 6,25
14 S, 8,16 7,17 7,17 618 518 519 4,19 &, - 12 20 13,19 12,20 11,21 10,22 9,23 8,23 8,24 7.2 7,25
}g 10,15 8,16 8,17 7,18 6,18 6,19 5,19 4, - 4, - 12 21 14,19 12,21 11,22 10,22 9,23 9,24 8,24 7,25 7,25
10,15 9,16 8,17 7,18 6,18 6,19 5,19 5, - b, - 22 14,19 12,21 11,22 10,22 9,23 9,24 8,24 7,25 7, -
17 10,15 9,17 8,17 7,18 7,19 6,19 5, - 5,- 4, - 23 1,20 12,21 11,22 11,23 10,24 9,24 8,24 8,25 7, -
18 10,16 9,17 8,18 8,18 7,19 6, - 6 - 5, - 5, = 2 14,20 13,21 . 11,23 10,24 9,24 9,25 8, - 7, -
2 9 9,25 8, - 8, -
. 1,16 9,17 8,18 8,18 R s, - 25 14,20 13,22 12,22 11,23 10,24 , 24 )2 B ,
20 11,16 10,17 9,18 8,18 7,19 Ts # 6, - 5, - 5, - 26 15,20 13,22 12,23 11,23 10,24 10,25 9,25 8, - 8, -
21 11,16 10,18 9,18 8,19 7, - 7, - 6, - 6, = 5, - 27 15,20 13,22 12,23 11,24 10,24 10,25 9,25 8, - & -
22 11,16 10,18 9,18 8,19 7, - 7, - 6, - 6, = 55 '= 28 15,21 13,22 12,23 12,24 11,24 10,25 9, - 9, - 8, -
23 | 12,16 10,18 9,18 8,19 8, - 7, - 6 - 6 - S5y = 29 15,21 14,22 13,23 12,24 11,24 10,25 10, - 9, - 8, -
12 30 15,21 14,22 -13,23 12,24 11,25 10,25 10, - 9, - 8, -



Critical Values for the Runs Test (cont.)
Taken from Zar, 1981 Table B.28

a(2): 050 0.20 0.10 0.05 0.02 0.01 0.005 0.002  0.001

n onp a(l): 025 010 005 0025 001 0005 00025 0001 0.0005 «(2): 0850 020 010 005 002 001 0005  0.002 0.001

np ny a(1): 025 010 0.05 0.025 0.01 0.005 0.0025 0.001  0.0005

13 13 | 11,17 10,18 9,19 8,20 7,21 7,21 6,22 5,23 5,23
Dol omn R owhopmonnopaom oanoam A A
1s | 12,18 11,19 10,20 9,21 8,22 7,22 7,23  6,2b 6,24 19 16,22 1s,2s 13,25 12,26 11,27 10,27 10,28 9,29 8,29
16 | 13,18 11,20 10,21 9,21 8,22 823 7,25 6,24 6,25 20 16,22 15,24 13,25 13,26 11,27 11,28 10,29 9,29 9,30
7ol B L a2 9B 85 L L5 625 21 17,23 15,25 14,26 13,27 12,28 11,28 10,29 10,30 9,30
18 | 13,19 12,20 11,21 10,22 9,23 8,24 8,24 1,25 7,25
191 Ll 121 12z 100235 92 924 8,25 7,25 7,26 2 17020 dngs 1337 ez 1se 1rse 130 1091 1001
20 | 1s,20 12,21 11,22 10,23 10,24 9,24 8,25 8,26 7,26 2 18,26 16,26 15,27 14,28 13,29 12,30 11,30 11,31 10,32
21 | 1,20 13,22 12,22 11,23 10,24 9,25 9,25 8,26 7,26 25 18,24 16,26 15,27 14,28 13,29 12,30 12,31 11,31 10,32
22 | 15,20 13,22 12,23 11,2& 10,24 9,25 9,26 8,26 7,27 . . . . . . ' ’ ’
| 26 18,25 17,26 15,28 14,29 13,30 13,30 12,31 11,32 10,32
23 | 15,20 13,22 12,23 11,24 10,25 10,25 9,26 8,26 8,27
22 1 L2 122 12 LIy 620 102 I L2 U 27 19,25 17,27 16,28 15,29 14,30 13,31 12,31 11,32 11,33
28 19,25 17,27 16,28 15,29 14,30 13,31 12,32 12,32 11,33
25 | 15,21 1,23 13,24 12,24 11,25 10,26 9,26 9,27 8,27 29 19,26 17,27 16,28 15,29 14,30 13,31 13,32 12,33 11,33
26 | 16,21 14,23 13,28 12,24 11,26 10,26 10,26 9,27 8, - 17 30 20,26 18,28 17,29 16,30 14,31 14,32 13,32 12,33 11,33
27 | 16,21 14,23 13,24 12,25 11,26 10,26 10,26 9,27 9, -  alaia. O P 4 4 4 - ‘ 4 ‘ ‘ 4
2 16,22 16,25 13,26 12,25 11,26 1L26 10,27 9, - 9, - 18 18 16,22 14,24 13,25 12,26 11,27 11,27 10,28 9,29 9,29
29 16,22 1,24 13,26 13,25 12,26 11,26 10,27 9, - 9, - 20 19035 10 lwe 1na 10 Ik IME a3 uR
a6 ) em Din Gn B i ik dojn w9 B0 R W by waoawm o len o
1 12,18 11,19 10,20 9,21 8,22 7,23 7,25 6,26 6,24 22 18,26 16,26 15,27 14,28 13,29 12,30 11,30 10,31 10,32
15 13,16 11,20 10,21 9,22 8,23 8,23 7,24 7,24 6,25
16 13,19 11,20 11521 10,22 9,23 8,24 8,24 7,25 6,25 23 18,20 16,26 15,27 14,28 13,20 12,30 12,31 11,32 10,3
17 14,19 12,21 11,22 10,23  9,2b 8,24 8,25 7,25 1,26 | 18,25 17,27 15,28 14,29 13,30 13,30 12,31 11,32 10,33
u Neld 2 22 102 v v AT T 25 | 19,25 17,27 16,28 15,29 14,30 13,31 12,32 11,32 11,33
. ’ . ’ , . . . . 26 | 19,25 17,27 16,28 15,29 14,30 13,31 12,32 12,33 11,33
19 14,20 13,22 12,23 11,23 10,24 9,25 8,26 8,26 17,27 18 27 | 19,26 18,28 16,29 15,30 1,31 13,32 13,32 12,33 11,3k
20 15,20 13,22 12,23 11,24 10,25 9,25 9,26 8,27 7,27 18 28 20,26 18,28 17,29 16,30 14,31 14,32 15,33 12,33 12,34
21 15,21 13,22 12,23 11,24 10,25 10,26 9,26 8,27 8,28 29 20,26 18,28 17,29 16,30 15,32 14,32 13,33 12,34 12,34
22 15,21 14,23 12,24 12,24 11,26 10,26 9,27 9,27 8,28 18 30 20,27 18,29 17,30 16,31 15,32 14,32 14,33 13,34 12,34
23 16,21 14,23 13,26 12,25 11,26 10,26 10,27 9,28 8,28 =c======= t--- Sommmmmsemeemeeesesssosssessooono- --
’ ’ ’ 4 ’ ’ ‘ ’ ‘ 19 19 17,23 15,25 14,26 13,27 12,28 11,29 11,29 10,30 9,31
24 16,22 14,23 13,24 12,25 11,26 10,27 10,27 9,28 8,28 20 17,24 16,25 14,27 13,27 12,29 12,29 11,30 10,31 10,31
25 16,22 14,24 13,24 12,25 11,26 11,27 10,28 9,28 9,28 21 18,24 16,26 15,27 14,28 13,29 12,30 11,31 11,31 10,32
26 16,22 15,24 14,25 13,26 12,26 11,27 10,28 9,28 9,29 22 18,25 16,26 15,28 1s,29 13,30 12,30 12,31 11,32 10,32
27 17922 1si2u w25 13026 12027 11,27 10,28 10,28 9,29 23 19,25 17,27 16,28 15,29 13,30 13,31 12,32 11,32 11,33
2 1 1 1 3,29
8 7,23 15,28 1h,25 13,26 12,27 11,28 1,28 0,29 .2 24 19,25 17,27 16,28 15,29 14,31 13,31 11,33 11,33
29 17,23 15,24 14,26 13,26 12,27 12,28 11,28 10,29 9, 25 19,26 17,28 16,29 15,30 14,31 13,32 12,33 11,34
N : 26 20,26 18,28 17,29 16,30 14,31 14,32 12,34 11,34
e o L Mes 15,25 .26 13,26 12,27 12,28 11,28 10,29 10, - 27 20,26 18,28 17,30 16,31 15,32 14,32 12,34 12,35
15 15 13,19 12,20 11,21 10,22 9,23 8,24 8,24 7,25 6,26 28 20,27 18,29 17,30 16,31 15,32 14,33 13,34 12,35
16 1,19 12,21 11,22 10,23 9,24 9,24 8,25 7,26 7,26
17 | 14,20 12,21 11,22 11,23 10,24 9,25 8,26 8,26 7,27 29 21,27 19,29 18,30 17,31 15,32 15,33 13,35 12,35
18 | 1,20 13,22 12,23 11,24 10,25 9,25 9,26 8,27 7,27 19 30 21728 19,29 18,31 17,32 16,33 15,34 13,35 13,36
15 19 1. 1s,21 13,22 12,23 11,24 10,25 10,26 9,27 8,27 8,28 "ooeesoees Bttt httieieisieietb e tuiniuieielsteieieintuiefelteiett R
15 20 15,21 13,23 12,24 12,25 11,26 10,26 9,27 8,28 8,28 20 20 18,24 16,26 15,27 14,28 13,29 12,30 11,31 11,31 10,32
5 16021 1al23 13,24 12,78 11926 10027 10527 928 8,29 21 18,22 16,27 15,28 14,29 13,30 12,31 12,31 11,32 10,33
22 16,22 1,2k 13,25 12,25 11,26 10,27 10,28 9,28 8,29 22 19,25 17,27 16,28 15,29 14,30 13,31 12,32 11,33 11,33
23 16,22 14,24 13,25 12,26 11,27 11,27 10,28 9,29 9,29 23 19,26 17,28 16,29 15,30 14,31 13,32 12,32 12,33 11,34
2 | 16022 15,24 lai2s 13,26 12,27 11,28 10,28 10,29 3,30 2k 20,26 18,28 16,29 15,30 14,31 14,32 13,33 12,34 11,34
25 17,25 15,26 14,26 13,26 12,27 11,28 11,29 10,28 9,30 25 20,26 18,28 17,30 16,31 15,32 14,33 13,33 12,34 12,35
26 17,23 15,25 14,26 13,27 12,28 11,28 11,29 10,30 9,30 26 20,27 18,29 17,30 16,31 15,32 14,33 13,34 13,35 12,35
27 17023 18925 14026  lil27 12928 12028 11,29 10,30  10.30 27 21,27 19,29 18,30 17,31 15,33 15,33 14,34 13,35 12,36
28 | 18,24 16,25 15,26 14,27 13,28 12,29 11,29 10,30 10,30 28 21,28 19,30 18,31 17,32 16,33 15,34 14,34 13,35 13,36
29 | 18,24 16,26 15,26 14,27 13,28 12,29 11,30 11,30 10,31 29 21,28 19,30 18,31 17,32 16,33 15,34 14,35 13,36 13,36
|
15 30 | 18,24 16,26 15,27 14,28 13,28 12,29 12,30 11,30 10,31 20 30 22,28 20,30 18,32 17,32 16,34 15,34 15,35 14,36 13,37
-------- --*-----_--._-_ ————-—— P - Sesssssss- -"'-_-—--_--‘-'-""'--'-'---"'-""_'""'--"---"""'"""""'-'-‘
6 15 1620 12,22 1123 1123 10.2% 9,25  8.26  B.26  7.27 21 21 19,25 17,27 16,28 15,29 14,50 13,31 12,32 11,33 11,33
1 15018 13,22 12023 11028 10%25  ol26  sl26  s.27 7038 22 19,26 17,28 16,29 15,30 14,31 13,32 13,32 12,33 11,34
18 15,21 13,23 12,2& 11,25 10,26 10,26 9,27 8,28 8,28 23 20,26 18,28 17,29 16,30 14,31 14,32 13,33 12,34 11,35
1s 15021 1ul23 13,24 12078 11,26 10937 927  9'28 8,29 2 20,27 18,29 17,30 16,31 15,32 14,33 13,34 12,34 12,35
20 16,22 1,24 13,25 12,25 11,26 10,27 10,28 9,29 8,29 25 21,27 19,29 17,30 16,31 15,32 14,33 14,34 13,35 12,36
21 16,22 14,26 13,25 12,26 11,27 11,28 10,28 9,29 9,30 26 21,27 19,30 18,31 17,32 15,33 15,34 14,34 13,35 12,36
32 17,23 15026 14025 13,26 12027 11728 10,29 929 9730 27 21,28 19,30 18,31 17,32 16,33 15,34 14,35 13,36 13,36
23 17,23 15,25 14,26 13,27 12,28 11,28 11,29 10,30 9,30 28 22,28 20,30 18,32 17,33 16,34 15,35 15,35 14,36 13,37
24 17,23 15,25 14,26 13,27 12,28 12,29 11,29 10,30 9,31 29 22,29 20,31 19,32 18,33 16,34 16,35 15,36 14,37 13,37
25 17,24 16,25 15,26 14,27 13,28 12,29 11,30 10,30 10,31 a3 22,29 20,31 19,32 18,33 17,35 16,35 15,36 14,37 13,38
2 18,26 16,26 15,27 1s,28 13,29 12,29 11,30 11,31 10,31 22 22 20,26 18,28 17,29 16,30 14,32 14,32 13,33 12,34 11,35
27 18,26 16,26 15,27 14,28 13,29 12,30 12,30 11,31 10,32 23 20,24 18,29 17,30 16,31 15,32 14,33 13,34 12,35 12,35
28 18,24 16,26 15,27 14,28 13,29 13,30 12,30 11,31 10,32 24 21,27 19,29 17,30 16,31 15,33 14,33 14,34 13,35 12,36
29 19°28 17726 1¢’78 25 | 21,28 19,30 18,31 17,32 16,33 15,34 14,35 13,36 13,36
. ) ,28 15,28 14,30 13,30 12,31 11,32 11,32
16 30 19,25 17,27 16,28 15,29 1,30 13,30 12,31 11,32 11,32 26 | 22,28 19,30 18,31 17,32 16,34 15,34 14,35 13,36 13,37




Critical Values for the Runs Test (cont.)
Taken from Zar, 1981 Table B.28

a(2): 050 0.20 0.10 0.05 0.02 0.01 0.005 0.002  0.001
ng np  a(1): 025 0.10 0.05 0.025 0.01 0.005 0.0025 0.001 0.0005

27 22,29 20,31 19,32 18,33 16,34 15,35 15,36 14,37 13,37
28 22,29 20,31 19,32 18,33 17,35 16,35 15,36 14,37 13,38

29 23,29 21,31 19,33 18,34 17,35 16,36 15,37 14,38 14,38

22 30 23,30 21,32 20,33 19,34 17,35 16,36 16,37 15,38 14,39
23 23 21,27 19,29 17,31 16,32 15,33 14,34 14,34 13,35 12,36
2 21,28 19,30 18,31 17,32 16,33 15,34 14,35 13,36 13,36

25 22,28 20,30 18,32 17,33 16,34 15,35 14,35 14,36 13,37

26 | 22,29 20,31 19,32 18,33 16,34 16,35 15,36 14,37 13,38

23 27 | 23,29 20,31 19,33 18,3k 17,35 16,36 15,36 14,37 14,38
23 28 23,30 21,32 20,33 18,3 17,35 16,36 16,37 15,38  1ik,39
29 23,30 21,32 20,33 19,35 17,36 17,37 16,37 15,38 14,39

23 30 24,30 21,33 20,34 19,35 18,36 17,37 16,38 15,39 15,39
24 24 22,28 20,30 18,32 17,33 16,34 15,35 15,35 14,36 13,37
25 22,26 20,31 19,32 18,33 17,34 16,35 15,36 14,37 13,38

26 23,29 20,31 19,33 18,34 17,35 16,36 15,37 14,38 14,38

27 23,30 21,32 20,33 19,34 17,36 16,36 16,37 15,38 14,39

28 23,30 21,32 20,34 19,35 18,36 17,37 16,38 15,39 14,39

29 24,31 22,33 20,34 19,35 18,36 17,37 16,38 15,39 15,40

24 30 24,31 22,33 21,35 20,36 18,37 17,38 17,39 16,40 15,40
25 25 23,29 21,31 19,33 18,34 17,35 16,36 15,37 14,38 14,38
26 23,30 21,32 20,33 19,34 17,36 16,37 16,37 15,38 14,39

27 24,30 21,33 20,34 19,35 18,36 17,37 16,38 15,39 14,39

28 24,31 22,33 21,34 19,35 18,37 17,38 16,38 15,39 15,40

29 24,31 22,33 21,35 20,36 18,37 18,38 17,39 16,40 15,41

25 30 25,32 23,34 21,35 20,36 19,38 18,39 17,39 16,40 15,41
26 26 24,30 21,33 20,34 19,35 18,36 17,37 16,38 15,39 14,40
27 24,28 22,33 21,34 19,36 18,37 17,38 16,39 15,39 15,40

28 25,31 22,3 21,35 20,36 19,37 18,38 17,39 16,40 15,41

29 25,32 23,34 21,35 20,37 19,38 18,39 17,40 16,41 16,41

26 30 25,32 23,35 22,36 21,37 19,38 18,39 18,40 17,41 16,42
27 27 25,31 22,34 21,35 20,36 19,37 18,38 17,39 16,40 15,41
28 25,32 23,34 21,36 20,37 19,38 18,39 17,40 16,41 16,41

29 25,32 23,35 22,36 21,37 19,39 19,39 18,40 17,41 16,42

27 30 26,33 24,35 22,37 21,38 20,39 19,40 18,41 17,42 16,43
28 28 25,33 23,35 22,36 21,37 19,39 19,39 18,40 17,41 16,42
29 26,30 24,35 22,37 21,38 20,39 19,40 18,41 17,42 16,43

28 30 26,34 24,36 23,37 22,38 20,40 19,41 18,41 17,42 17,43
29 29 26,34 24,36 23,37 22,38 20,40 19,41 19,41 17,43 17,43
29 30 27,34 25,36 23,38 22,39 21,40 20,41 19,42 18,43 17,4k
30 30 27,35 25,37 24,38 23,39 21,41 20,42 19,43 18,44 18,44

This table was prepared using the procedure described by Brownlee (1965: 225-226) and Swed
and Eisenhart (1943).
Example:
u0.05(2),24,30 = 20 and 36.



